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Question Number : 1 Question Id : 70819119564 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[f e is the electronic charge, c is the speed of light in free space and h is Planck’s constant, the

e -
quantity ——— —— has dimensions of :
© o dmeg hic

Options:
f (
70819163841, IM LTI

/ 1
70819163842. Ll

a7 0 )
70819163843, ML T']

—~ =]
70819163844, 1L C ]

Question Number : 1 Question Id : 70819119564 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
f (
70819163841, M LTI

/ 1
70819163842. MLE

a7 070
70819163843, M’ L T']

—~=
70819163844, 1L C ]

Question Number : 2 Question Id : 70819119565 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A stone is dropped from the top of a building. When it crosses a point 5 m below the top,
another stone starts to fall from a point 25 m below the top. Both stones reach the bottom of
building simultaneously. The height of the building is :

Options :

70819163845, 2> m

70819163846, 25 m

70819163847, 22 M

70819163848, 20 m

Question Number : 2 Question Id : 70819119565 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819163845, 4 m

70819163846, 25 m

70819163847, 22 M

70819163848, 20 m

Question Number : 3 Question Id : 70819119566 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Asﬂmmofmdmsh%mdnmﬁ&ﬁrdhakmgahmﬁmﬁﬂphnowﬂhamﬂmuspmdqrh
encounters an inclined plane at angle 6 and climbs upward. Assuming that it rolls without
slipping, how far up the sphere will travel ?

@W :

Options:

70819163849, 28 sind

lj
7
5 g

70819163850, 8 Sin

IUUS
70819163851, /8 Sinb
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Question Number : 3 Question Id : 70819119566 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819163849, 28 Sin

70819163850, 28 Sin

lﬂvﬁ

70819163851, /8 Sinb

b
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g sinb
70819163852.

Question Number : 4 Question Id : 70819119567 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The point A moves with a uniform speed along the circumference of a circle of radius 0.36 m
and covers 30° in0.1s. The perpendicular projection’P’ from A’ on the diameter MN represents

the simple harmonic motion of ‘P, The restoration force per unit mass when P touches M
will be :

0.36 m

Options :
70819163853, 100 N

70819163854, 287 N

70819163855, 20 N

70819163856, 029 N

Question Number : 4 Question Id : 70819119567 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fie A s a1t 5% S99 ©F daudel © & A mad fen 0.36 m J &% 9%er J w3 30° 3
0.1sfSeyTrage 71 ‘A’ 3 ®9 y3fae, MN fenrA €3, ‘P’ § Ao wiees 951 § SO d1 7
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Options :

70819163853, 100 N



70819163854, 287 N

70819163855, 20 N

70819163856, 029 N

Question Number : 5 Question Id : 70819119568 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Thermodynamic process is shown below on a P-V diagram for one mole of an ideal gas. If
V,=2V, then the ratio of temperature T,/T, is :

P1 1(Py, V1, Ty)

1
Py 2 =constant

2(Py, Vo, Ty)

Options :

70819163857.

70819163858. V2

b2 | =

70819163859.

I

70819163860.



Question Number

: 5 Question Id : 70819119568 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fea 1 nrear dn ®g P-V 1939 3 3 astat uay fewehr famr 3 1 F@@ V=2V, 3, €€

T,/T, & ngu3 3

P1 1(Py, V4, Ty)

1
Py 2 =constant

2(Py, Vy, Ty)

Options :

70819163857.

70819163858. V2

B | =

70819163859.

70819163860. 2

Question Number

: 6 Question Id : 70819119569 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :  In a diatomic molecule, the rotational energy at a given temperature obeys
Maxwell’s distribution.

Statement 1 :  In a diatomic molecule, the rotational energy at a given temperature equals
the translational kinetic energy for each molecule.

[n the light of the above statements, choose the correct answer from the options given below :



Options :
70819163861 Both Statement I and Statement 1l are true.

70819163862, Both Statement 1 and Statement 1l are false.

70819163863, Statement 1 is true but Statement 11 is false.

70819163864 Statement 1 is [alse but Statement 11 is true.

Question Number : 6 Question Id : 70819119569 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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70819163861, =0 @6 103 11 Al 5|

20819163862, =° 86 17F 1l I&3 T

20819163863, X80 1 ALl I m3 @a 11 3©3 J|

70819163864, X866 | T3 T »iZ &Ea 11 AJ T

Question Number : 7 Question Id : 70819119570 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Two identical springs of spring constant ‘2k” are attached to a block of mass m and to fixed
support (see figure). When the mass is displaced from equilibrium position on either side, it
executes simple harmonic motion. The time period of oscillations of this system is :
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Options :

70819163865.

70819163866.

fm

AR
70819163867.

[ 111

L ‘\I ~
70819163868. e

Question Number : 7 Question Id : 70819119570 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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m

K
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70819163866.

fm

A
70819163867.

[ 111

V%
70819163868. =

Question Number : 8 Question Id : 70819119571 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Y =Asin(wt + dy) is the time-displacement equation of a SHM. At t=0 the displacement of

A
the particle is Y = — and it is moving along negative x-direction. Then the initial phase

angle g will be :

Options :

w| g

708191638609.

5n
70819163870. ©

o4

70819163871.

70819163872. e

Question Number : 8 Question Id : 70819119571 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 70819119572 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A charge ‘q’ is placed at one corner of a cube as shown in figure. The flux of electrostatic field

—

E through the shaded area is :
AL
>Y
q
X
Options:
q
5]:8&'{}

70819163873.



70819163874, E0

8eo
70819163875.

pr

=1
70819163876.

Question Number : 9 Question Id : 70819119572 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819163873, *5¢0

70819163874, E0
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Question Number : 10 Question Id : 70819119573 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Andmtmrwﬂmhmﬂcmm%yK“mmﬁhmwmnpmﬂblﬁﬂ@ofampmﬂmatmnmge
‘o’ with the plates. It leaves the plates at angle "B with kinetic energy K,. Then the ratio of
kinetic energies K T K’z will be :

Options :

: cosf3

70819163877, €05

cosfp

70819163878, SN«

sin 2[3
cos’a

70819163879.

cos‘zﬁ

COSEH

70819163880.

Question Number : 10 Question Id : 70819119573 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:
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70819163877, ©05¢
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70819163878, SN

sin 2[3

COs5 o

70819163879.

cos‘zlﬂ

70819163880, "% ¢

Question Number : 11 Question Id : 70819119574 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In a ferromagnetic material, below the curie temperature, a domain is defined as :

Options :

70819163881. 2 macroscopic region with zero magnetization.

70819163882. d MAacCroscopic region with saturation magneﬂzatmn.

70819163883 a macroscopic region with randoml}f oriented magnetic dipnles.

70819163884, & MAcroscopic region with consecutive magnetic dipoles oriented in opposite direction.

Question Number : 11 Question Id : 70819119574 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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70819163881. feer =sTart 439 faret dease HI9 T
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70819163883. féar =seart 439 fare gl € Uo<t F3a/E3TstE feris 96 |

70819163884, [E SCUHI HIT FEll € UUSI B39 Gt femr few fems 76 |

Question Number : 12 Question Id : 70819119575 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An LCR circuit contains resistance of 110 ) and a supply of 220 V at 300 rad/s angular
frequency. If only capacitance is removed from the circuit, current lags behind the voltage by
45°. If on the other hand, only inductor is removed the current leads by 45° with the applied
voltage. The rms current flowing in the circuit will be :

Options :

70819163885, 1 A

70819163886, 1.5 A

70819163887, 2 A

70819163888, = A

Question Number : 12 Question Id : 70819119575 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



fea LCR e feg 110 Q & y3ioua § w3 220 V e & mrydst 300 rad /s o=t nifest 83 31
a9 fH9e U9 Jt Fude fe9 gefent 7 J due 28w 3 45°. T Sl 7 J1 799 TRV UH
f9e Yo 3 Jf Jerfent AeT 4, ade o3t 98 S8en 3 45° Wil MU e J | rms A (<9 98 faor
e J=a :

Options :

70819163885, 1 A

—

70819163886, 1.5 A

[
=

70819163887.

70819163888, 2> A

Question Number : 13 Question Id : 70819119576 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The stopping potential for electrons emitted from a photosensitive surface illuminated by
light of wavelength 491 nm is (0.710 V. When the incident wavelength is changed to a new
value, the stopping potential is 1.43 V. The new wavelength is :

Options :

70819163889, U9 nm

70819163890, 329 nm

gl
70819163891, 02 nm

70819163892, 400 nm

Question Number : 13 Question Id : 70819119576 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

fea fodaes o AfE3 Ueams 0.710 V I 7 53 yaAr=er (S2ARfes) 38 3 yaAs asr g, famet
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Options :

70819163889, U9 nm

70819163890. 320 nm

¥l
70819163891, 02 nm

70819163892, 400 nm

Question Number : 14 Question Id : 70819119577 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Consider the diffraction pattern obtained from the sunlight incident on a pinhole of diameter
0.1 pm. If the diameter of the pinhole is slightly increased, it will affect the diffraction pattern
such that :

Options :

70819163893. ils s1ze IncCreases, and II‘lf.C‘I‘lSIT.}-' IMcreases

70819163894 its size increases, but intensity decreases

70819163895, its size decreases, but intensily increases

70819163896 its size decreases, and intensity decreases

Question Number : 14 Question Id : 70819119577 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
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Options :
70819163893, ERET wiag TueT J w3 3TE93T =uel J|

70819163894, SHTT WiETg 20T J UF ItEa3T wewl J|

20819163895, [EFE Wielg W' J ug SiEgsT 2ust J|

70819163896, fore nigrg waer T wig ShaagT uest T

Question Number : 15 Question Id : 70819119578 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An electron of mass m, and a proton of mass mp =1836 m,, are moving with the same spood.

8
The ratio of their de Broglie wavelength “electron iy pe
Aproton

Options :

70819163897.

70819163898, 1836

70819163899, 1836

70819163900. 718

Question Number : 15 Question Id : 70819119578 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
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Options :

70819163897.

70819163898, 1836

70819163899, 1836

70819163900. 718

Question Number : 16 Question Id : 70819119579 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The wavelength of the photnn emitted b}-‘ a h}-‘drogon atom when an electron makes a transition
fromn=2ton=1 state is :

Options :

70819163901, 121.8 nm

70819163902, 1948 nm

70819163903, +70-7 nm

70819163904, 9133 nm

Question Number : 16 Question Id : 70819119579 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

e TEISTs YH'E DT 25 I Uch ©f SUIBHE e (od (E8aes ST AfSt e n=2 3
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Options :

70819163901, 121.8 nm

70819163902, 194.8 nm

70819163903. 490.7 nm

70819163904, 913.3 nm

Question Number : 17 Question Id : 70819119580 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If a message signal of frequency 'I_{m’ is amplitude modulated with a carrier signal of frequency
‘f.” and radiated through an antenna, the wavelength of the corresponding signal in air is :

Options :
C

70819163905. fe = fm

C

70819163906, /¢ T fm

L

70819163907. fe

C

70819163908. fon



Question Number : 17 Question Id : 70819119580 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
nacts vt o fe37 AT 91 o R 9E 3 froes ©fF 3daearet deat
Options :

C

70819163905. fe = fm

C

70819163906, /¢ T fm

L

70819163907.f;

C

70819163908.'ﬂ”

Question Number : 18 Question Id : 70819119581 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
For extrinsic semiconductors; when doping level is increased;
Options :

Fermi-level of p-type semiconductor will go upward and Fermi-level of n-type
70819163909 semiconductors will go downward.

Fermi-level of p-type semiconductors will go downward and Fermi-level of n-type

70819163910. semiconductor will go upward.

20819163911. Fermi-level of p and n-type semiconductors will not be affected.

70819163912.



Fermi-level of both p-type and n-ty pe semiconductors will go upward for T > T K and
downward for T < TF K, where TF is Fermi temperature.

Question Number : 18 Question Id : 70819119581 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
nigAZfafaa Wiaug®ar S, AT 3ual (mgath) {39 2uet J

Options :
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70819163910, =0 T = |
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Question Number : 19 Question Id : 70819119582 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List I with List II.

List I List 1
(a) Rectifier ()  Used either for stepping up or stepping down the a.c. voltage
(b) Stabilizer (i) Used to convert a.c. voltage into d.c. voltage
(c) Transformer (i) Used to remove any ripple in the rectified output voltage
(d) Filter (iv) Used for constant output voltage even when the input voltage

or load current chang_e
Choose the correct answer from the options given below :

Options :
20819163913, (@F-(ii), (b)-(i), (0)-(iii), (d)-(iv)



70819163914, (@), (b)-(iv), (c)-(1), (d)-(ii)

70819163915, (@)k(ii), (b)-(1), (c)-(iv), (d)-(iii)

70819163916, @) (i), (B)(iv), ()-(), (d)(ii)

Question Number : 19 Question Id : 70819119582 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
gt - 18 gt - 11578 oG
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(b) FeEEET (i) A.C. WA 3 SL.A. e (o8 wewe w8 o

(c) ZTFeE (iii) FCIE alst mgeue 2wen 3 fous § 7ol wet =93t

(d) femeq (iv) 7% fEale Swen 1 B3 dge gofon aieT 37 Aftg wiioue med s
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Options :

70819163913, (@)-(i), (b)-(i), (c)-(iii), (d)-(iv)

70819163914, @), (b)-(iv), ()-(0), (d)-(iii)

70819163915, (@)-(ii), (b)-(i), (c)-(iv), (d)-(iii)

70819163916, @), (D)(iv), (c}-(), (d)-(ii)

Question Number : 20 Question Id : 70819119583 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The truth table for the follnwing If}g ic circuit is :

Ae }

=
B e o
Options:
A B ¥
0 0 0
0 1 1
1 0 1
1 1 0
70819163917.
A B Y
0 0 1
0 1 0
1 0 0
1 1 1
70819163918.
A B L'
0 0 1
0 1 0
1 0 1
1 1 0
70819163919.
A B ¥
0 0 0
0 1 1
1 0 0
1 1 1

70819163920.



Question Number : 20 Question Id : 70819119583 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

foH=T#Y3 S99 Adole ©' 298 285 J -

Ae }
'

Be }
Options :

A B ¥

0 0 0

0 1 1

1 0 1

1 1 0
70819163917.

A B Y

0 0 1

0 1 0

1 0 0

1 1 1
70819163918.

A B ¥

0 0 1

0 1 0

1 0 1

1 1 0
70819163919.

70819163920.



A B Y

0 0 0

0 1 1

1 0 0

1 1 1

Physics Section B

Section Id : 708191845
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911125
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 70819119584 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Two particles having masses4 g and 16 g respecttvol}-' are moving with oqual kinetic energies.
The ratio of the magnitudes of their linear momentum is n : 2. The value of n will
be _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819119584 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
4gn3 16 g T9 T € Iz T9HY I3+ G 56 UB 99 I5 MiF BaaT T THt Fedr T UfoHE T nigurs
n:23 nE@EE____ &=
Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819119585 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The initial velocity v, required to project a body vertically upward from the surface of the
earth to reach a height of 10R, where R is the radius of the earth, may be described in terms

™
4 ; X o
of escape velocity v, such that o; = I~ % v,.The value of x willbe .

\y
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819119585 Question Type : SA



Correct Marks : 4 Wrong Marks : 0
Bate nidfsd < o; far 2R3 & uast = A8t 3 9 T Bud YU aes ®e1, 7 1 §a 10R < Goret
3 uduz ® vl R uast & nigu fonrm 9, #7e foR 3 uwies % o, 5% edrfenr Hier g 3t

—
X
0=

' 'l‘||l,‘

Response Type : Numeric

X Ty. X T HE __ =

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819119586 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The percentage increase in the speed of transverse waves pmduced in a stretched string if

the tension is increased by 4%, willbe ____ %.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819119586 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
fig@ 4% =0 fogr A=

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819119587 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

IfPxQ=0Qx P, theanglebetween P anda is B (0° < 0 < 360°). The value of ‘0" will be

b

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819119587 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

TP xQ=QxP I pnMQ femmmaz 0 (F<0<360) 3 VEHE
d=ar |

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 25 Question Id : 70819119588 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A reversible heat engine converts one-fourth of the heat input into work. When the
temperature of the sink is reduced by 52 K, its efficiency is doubled. The temperature in
Kelvin of the source willbe .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819119588 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

f¥q ufgegsat (reversible) 37 femz fE3 o 3u T o8 Ut © soo@ oW feg ager 91 7% orod

(fAa) & 3uws 52 K ule #er 3, feret aran A3 € gt d At 31 B3 € 3N ofes feg
J8 |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819119589 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Two small spheres each of mass 10 mg are suspended from a point by threads (0.5 m long,
They are equally charged and repel each other to a distance of (.20 m. The charge on each of

g e )
the sphere is 1 x 10 SC. The value of a" will be

[Given g =10 ms 2]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819119589 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

10 mg 59799 I TF T B¢ I 8 0.5 m By udl 57 ¥ fig 3 Seare aw 95| 261 & 59T g9
s ol e 33 e g 020 m 9 6t 3 v 0 001 0 95 63 T D o X 10°°C,
EE=R Y Incs

[®= g=10 ms™?]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819119590 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Two identical conducting spheres with negligible volume have 2.1 nC and - 0.1 nC charges,
respectively. They are brought into contact and then separated by a distance of (.5 m. The
electrostatic force acting between the spheres is _ X107 N.

1
Given : 4mwe,= —— Sl unit
| O 9x10° |

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819119590 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

STHTIT nE3s 2% ¢ ANG forel 9d diont 83 @9 2.1 nC 3 - 0.1nC 99 71 837 3 f&a

T9 &% 73 o (.5 HieT € o9t 3@ w@a a3 J | Jionr feeed s foor AfEe s 9% 9
_x1077 N foz 3

o m 1
EEE 4mey= ——= Sl unit]
9 x 10

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819119591 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



The poak electric field produced by the radiation coming from the 8 W bulb at a distance of
X |[T i
10mis — VI . The efficiency of the bulb is 10% and it is a point source. The value of
m

Xis

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819119591 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

10 m = &9 83 fEa 8 W T =% Re/enma o1 99t Tshims ads Uer oS fame 139 € 9l HB &
u%ama‘aw u%a o aow gEes 10% 9 w3 feg fa fie rez T 9 (o) famddt wsw

I s W ] )
Mlpdﬂ — dlx @ HE g _d]|
10Y 7

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819119592 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



A current of 6 A enters one corner P of an equilateral triangle PQR having 3 wires of resistance
2 () each and leaves by the comer R. The currents "Il in ampere is ____

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819119592 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

f¥d 6 A ade AM f3ga PQR € fea P faarg 3 ews der 9, fam e 3 397 & goa & yStaus 20
J w3 w9e R oo 3 femg g5 91 &de i) (mning e) _ W

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 30 Question Id : 70819119593 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The wavolc-ngth of an Kura}-' beam is 10 A. The mass of a fictitious particle having the same

energy as that of the X-ray photons is %h kg. The value of x is _
(h=Planck’s constant) |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819119593 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

fog X-foos & /A STt 10A T vigdt 53 2 979 © ulgaws a9 fmaw X-fags © 225 © s

X =, v e W oo
G S hkg I xTHET _ (h=uBT nS J)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Chemistry Section A

Section Id : 708191846
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911126
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819119594 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which among the following species has unequal bond lengths ?

Options :

4

Xe 4
70819163931.

SiF,
70819163932.

ol

70819163933. ~ Fy

BF,
70819163934,

Question Number : 31 Question Id : 70819119594 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Options:

Xe 4
70819163931.

SiF,
70819163932.

70819163933. s

BE,
70819163934.

Question Number : 32 Question Id : 70819119595 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The solubility of Ca(OH), in water is :
[Given : The solubility product of Ca(OH), in water=>5.5x10"9]

Options :

70819163935, 1-11% 10-2
70819163936, 1-11* 10 —©
70819163937, 1771072
70819163938, 1-77 106

Question Number : 32 Question Id : 70819119595 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
word uet €8 Ca(OH), ¥ WoeHSs™ 32aes 5.5 %1067 3wzt 28 Ca(OH), ¥ weekissT J:

Options :

70819163935, 1-11x10

70819163936, 1-11 %10

I3

70819163937, 177 x 10

70819163938, 1.77 <10

Question Number : 33 Question Id : 70819119596 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following statements is FALSE for hydrophilic sols ?

Options :
70819163930. They do not require electrolytes for stability.

70819163940. These sols are reversible in nature.

70819163941, lheir viscosity is of the order of that of H,O.

70819163942. The sols cannot be easily coagulated.

Question Number : 33 Question Id : 70819119596 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TESIEB (FB-Aadl ) Aed &t foHfsfeus &5 ooz ams o83

Options :




70819163939, (=90 © AfgesT et fan fedacmete (famset-fegmu) Glaa <t &3 &dt e |

20819163940, &g A% (sol) ufgeadt gehm a5 |

20819163941, fegsT & foufeunis (viscosity) Uet © 99789 Jet J |

70819163942, (€96 I & WM& 57 die (Coagulated) &t 554 |

Question Number : 34 Question Id : 70819119597 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct order of bond dissociation enthalpy of halogens is :
Options :
70819163943, 127 Ch” B> by

70819163944, 127 Bra> (> Iy

70819163945, —2” Bra> B> I

CL>F,> Bry> I
70819163946, 2 27 7127 2

Question Number : 34 Question Id : 70819119597 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
JRHGT ©f 506 fQwes GRS &2 Adt gH ot I ?

Options :

70819163943, 12~ Cl> Bro> 1,



70819163944, 27 Bra> (> F,

70819163945, 127 B> Fo> 1

ClL,>F.,> Br>1
70819163946, — 2 27 P27 2

Question Number : 35 Question Id : 70819119598 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The method used for the purification of Indium is :
Options :
70819163947, Van Arkel method

70819163948, duation

70819163949, Zone refining

70819163950, ©apour phase refining

Question Number : 35 Question Id : 70819119598 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fEshi (In) 33 & pdlaos et foost fedt = Guua a3 AieT I ?
Options:

70819163947, =0 oe Tt

708191630948, T5000 (BIAESHS)



70819163949, 7O (H39) BUIEES

70819163950, - "o 9o HHICES

Question Number : 36 Question Id : 70819119599 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Water does not produce CO on reacting with :
Options :

70819163951. H,

70819163952, C

0,
70819163953. ~ 2

C,H,
70819163954,

Question Number : 36 Question Id : 70819119599 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

fan &% yisfatenr aga wat, CO IF &dF feer J1
Options :

70819163951. S

70819163952, ©

Co,
70819163953, 2



C.H,
70819163954,

Question Number : 37 Question Id : 70819119600 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement 1 :

a and 5 forms of sulphur can change reversibly between themselves with slow heating or
slow cooling.

Statement 11 :
Al room temperature the stable cr}-'stallf_no form of sulphur is monoclinic sulphur.

In the light of the above statements, choose the correct answer from the options given below :

Options :
70819163955, Both Statement I and Statement 1l are true.

70819163956. Both Statement | and Statement 1l are false.

70819163957 Statement 1 is true but Statement 11 is false.

70819163958, Statement 1 is false but Statement Il is true.

Question Number : 37 Question Id : 70819119600 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

J& € oEs B s |

qEsl:  IB-2 I9H 7 05 A96 6% ABSd © € gU-a ABEY nS P ABET U fEw O fee
ufgzafzz T3 & |

gEsll: T T IUHG 83, ABET © AE 3 20 ATl geo'd 9 HAa®Iod ABEY J |

Budas aEer o #n g, Js o3 feamut 29 mdt €39 & 9 a9

Options :

70819163955, 9&& | = JEs 1l 2= Jf Adt 951



70819163956, 20 | EaE Il O 353 75|

70819163957, %50 1 Rdt I ug3 oEs 11 IS I

70819163958, 70 1983 T U3 s LAt )

Question Number : 38 Question Id : 70819119601 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The major components of German Silver are :
Options :
70819163959, W Zn and Ag

70819163960. Cu, Zn and Ni

708191639671, O Cuand Ag

70819163962, 2 Niand Ag

Question Number : 38 Question Id : 70819119601 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HoHs gl (fAm=g) © vy via/fdn fooz oa|

Options :

70819163959, 1 £n ™F Ag

70819163960, CUr Zn "3 Ni



70819163961, ¢ Cu"F Ag

70819163962, 2 N1™3 Ag

Question Number : 39 Question Id : 70819119602 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In which of the following order the given complex ions are arranged correctly with respect
to their decreasing spin only magnetic moment ?

(i) [FeFg™ (i) [CoNHz)P* () [NiCl*~ (iv) [Cu(NHy),J**
Options :
70819163963, (i) > (iii) > (iv) > (ii)

70819163964, (1) > (iii) > (i) > (iv)

70819163965, (L) > (iv) > (ii) > (1

70819163966, (1) > (1) > (iii) > (iv)

Question Number : 39 Question Id : 70819119602 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fsHioi®43 Burfa Fums Gleat 3 857 2 293 Afls geal ZHA (moment) HIST € gH WA oY ?
(i) [FeFgP~ (i) [CoNHa)gP* () [NiCLP~ (iv) [Cu(NHy),*

Options :
70819163963, (1) > (iii) > (iv) > (ii)

70819163964, (1) > (i) > () > (iv)



70819163965, (1) > (iv) > (i) > (i)

70819163966, 1) > (1) > (iii) > (iv)

Question Number : 40 Question Id : 70819119603 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | :

The pH of rain water is normally ~5.6.

Statement 1I :

[f the pH of rain water drops below 5.6, it is called acid rain.

[n the light of the above statements, choose the correct answer from the options given
below :

Options :
70819163967. Both Statement | and Statement 1l are true.
70819163968. Both Statement I and Statement 1l are false.

70819163969. Statement 1 is true but Statement 11 is false.

70819163970. Statement 1 is false but Statement 1l is true.

Question Number : 40 Question Id : 70819119603 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



75 fow € ams fem 39T T -

qEsl: =@ (W) T et 2 Ut wie (pH) »mi-39 83 5.6 3Et U1

aEs 1l:  ew HiT (Z9w) T uet & Ut e (pH) 5.6 3 we 7=, 3 fer ia(zqw) @ 3wt @ay
forar AT I

Gudes TEst & o {39, fametos feamu &9 mat €55 & S a9

Options :

20819163967, =< 90 13 aes 11 At 751

70819163968. g gEs I S aEs 11 I3 76 |

70819163969, 780 | Fdl T W3 TES N I3 T |

20819163970, %90 1 B3 T udg oEs LA T |

Question Number : 41 Question Id : 70819119604 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following cnmpound is added to the sodium extract before addition of silver
nitrate for testing of halogens ?

Options :

70819163971, Hydrochloric acid

70819163972, ~>odium hydroxide

70819163973, 1Nitric acid

70819163974. Ammonia

Question Number : 41 Question Id : 70819119604 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

fo et Hiaa feg s < Hgedl o Uz Barge set A fad7 =9 fhses aeice fimkz 3
Yfawt oz dfae fhetfen fier g ?

Options :

70819163971, J TG FHH

BSthiH TESmiaR =S
70819163972. =

=

70819163974, MHOM

Question Number : 42 Question Id : 70819119605 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The major pmduct of the fnﬂf}wf_ng reaction is :

NO,
P
r o
H,50,
Options :
NO,
70819163975.
NO,
70819163976.

70819163977.



N,

NO,

70819163978.

Question Number : 42 Question Id : 70819119605 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
otz yfsfafonr 2t vu Gun faoat T -

-

/I“I\\D;
©

r
Hy50,
Options :
NO,

70819163975.

NO,
70819163976.

NO,
70819163977.

70819163978.



NO,

Question Number : 43 Question Id : 70819119606 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The major product of the following reaction is :

H,/CO
Rh catalyst

Options :

70819163979. ' =

70819163980. 3

20819163981, CHaCHCH=—CH—CHO

CH,CH,C==CH,

70819163982. CHO

Question Number : 43 Question Id : 70819119606 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
& Tt yfsfafenr € vy Bux fagat T .

H,/CO
Rh cata]}fﬁt

Options :

70819163979.



70819163980, —1a-HCH,CHO

20819163981, CH3CHCH==CH—CHO

CH,CH,C==CH,

70819163982. CHO

Question Number : 44 Question Id : 70819119607 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct sequence of reagents used in the preparation of 4-bromo-2-nitroethyl benzene
from benzene is :

Options :

0819163083, CH3COCI/AICL, Bry/ AlBrs, HNO,/H SO, Zn/HCl

70819163984, —H1aCOCI/AlCL, Zn-Hg/HCI, Br,/ AlBry, HNO;/H,S0,

70819163985, Br,/ AlBr,, CH,COC1/ AlClL,, HNO,;/H,50,, Zn/HCI

70819163986. HNO,/H,50,, Br,/AlCl,;, CH;COCl/ AlCl,, Zn-Hg/HCI

Question Number : 44 Question Id : 70819119607 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
HaHG 3 4-HoH-2-GEICEEES Hadls SEeE Tds @93 daF YfSgyr € Adt 393t €A

Options :

2081916303 CHACOCI/AICLy, Bry/ AlBrs, HNO5/H,SO,, Zn/HCl



20819163984, CH,COCL/ AlCl,, Zn-Hg /HC], Br,/AlBr,, HNO,/H,50,

20819163985, Bra/ AlBry, CH,COCI/AICL, HNO,/H,SO,, Zn/HCI

20819163986, HNO3/HaS0y, Bry/ AICL, CH;COCI/ AICL, Zn-Hg/HCI

Question Number : 45 Question Id : 70819119608 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct order of acid character of the [ nIInwing cnmpnunds ig :

COOH COOH COOH
CH,
I 11 111 IV

Options :

70819163987, 1= I>1M>1V

70819163988, I >N >1>1V

70819163989, 1> Il >V >1

70819163990, 1V > HI>11>1

Question Number : 45 Question Id : 70819119608 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



ﬁ%ﬁ%@?%ﬂﬁ?ﬂﬁ@aﬁ%?

COOH COOH COOH
CHs
| I I11 IV

Options :

70819163987, 1= 11> =1V

70819163988, Il > >1>1V

70819163989, 1> Il >V >1

70819163990, [V > HI>11>1

Question Number : 46 Question Id : 70819119609 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is ‘X’ in the given reaction ?

CH,OH o
+ oxalic acid L X
CH,OH (major product)
Options :
CHO
70819163991. 22
CH,OH
70819163992. e

70819163993.



CH,

CH,

CH—OH

|
CH,
70819163994,

Question Number : 46 Question Id : 70819119609 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
J5 fost ufsfaferr 9 (X) st T 2

CH,OH COOH

| + | _20C 0
CH,OH COOH or Yy Gum
(nra s 397E) 89 IUHS )
Options :
CHO
70819163991, 11O
CH,OH
70819163992, 2a L0
ﬁI@
70819163993. SED
CH—OH

CH
70819163994.



Question Number : 47 Question Id : 70819119610 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

NH, NH, NH, NH,
HNO;, H,50, Al
: - + +
288 K R
el
NO,
(A) (B) (©)

Correct statement about the given chemical reaction is :
Options :

70819163995, —NH,; group is ortho and para directive, so product (B) is not possible.
70819163996, Reaction is possible and compound (B) will be the major product.
70819163997, Lhe reaction will form sulphonated product instead of nitration.

Reaction is possible and compound (A) will be major product.
70819163998.

Question Number : 47 Question Id : 70819119610 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Quias fsffonr R QU (B) iz a3 fa@fr —NH, agu wiBz =8 agu § o3 p o,
<% Uaer J1
Options :
8uas (B) ufsfafonr Fa= adt ¥ fa@fx —NH, agu nifz =& adu § o3 p &, 3 doer
70819163995, O

~20819163996. yfsfafonr Aze 9 w3 fer ufsfafenr &t 1y 8UF (B) 1



70819163997, ATE SHO et o, Hﬁw Td'e HSenHe d=dll |

70819163998, HISI(onT HI= I w3 yistafanr & 1w Gur (A) T

Question Number : 48 Question Id : 70819119611 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Carbylamine test is used to detect the presence of primary amino group in an organic
compound. Which of the following compound is formed when this test is performed with
aniline ?

Options :
NHCHj;

70819163999.

70819164000. :

CN

NC

70819164001, :
CONH,
70819164002. :

Question Number : 48 Question Id : 70819119611 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



for aroeisa tlaa 98 yEtvet mils 21 fgee o U Sarge sel dueionHis (Carbylamine) SHe
g =93 oSt At J1 7€ Meleis (aniline) 57 fea eHe o3 wier 9 37 R fansfes f&9 foaar
EIGIE @: )

Options:

NHCH;
70819163999. :

CN
70819164000. :

NC

CONH,

70819164001. :

70819164002.

Question Number : 49 Question Id : 70819119612 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is correct structure of «-anomer of maltose ?

Options :
CH,OH CH,OH
H O, H H O H
< ;
H H H H
HO OH
70819164003. HO OH HO OH

70819164004.



CH,OH CH,OH

H —a, H H 0. OH
H I
<_111 H OH |
HO H
H OIH H OH
CH,OH CH,OH
H ——o0o_H H 0 H
H H
OH H OH H
HO OH
70819164005, H  OH H OH
CH,OH CH,OH
H +—0_ H H I—0o OH
H H
H H H
HO
OH OH HO OH
70819164006.

Question Number : 49 Question Id : 70819119612 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
foHalows =9 Hedd T aoHT & At 9237 faadt 37

Options :
CH,OH CH,OH
H O. H H O H
H I
H H H H
HO OH
70819164003. HO OH HO OH

H
€
HO

70819164004.



CH,OH CH,OH

H +—o0_H ———0_ H
H
OH H )_|<)H H
OH

HO
70819164005. H H  OH
CH,OH CH,OH
H o H H O. OH
H H
H H H
HO H
OH OH HO  OH
70819164006,

Question Number : 50 Question Id : 70819119613 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :

The identification of Ni?* is carried out by dimethy] glyoxime in the presence of NH,OH.
Statement 11 :

The dimethyl glyoxime is a bidentate neutral ligand.

In the light of the above statements, choose the correct answer from the options given below :
Options:

70819164007 Both Statement I and Statement 1l are true.

70819164008. Both Statement I and Statement 1l are false.

70819164000. Statement I is true but Statement 11 is false.

70819164010. Statement 1 is false but Statement 1l is true.

Question Number : 50 Question Id : 70819119613 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
Jo" 5 € s T8
TEa 1 Ni2* & uge 378 Hiwels aeemiameH (DMG) € Hee &%, NH,OH & e
feg aist /et U1
g5 1l:  (DMG) 57t HigeEis awemiare feq @280 (bidentate) 8'HI® (neutral) 1d 7
A% J1

Qudas aEs! € i (39, 5 &3 feamul fog At B39 ot wee &9

Options :
20819164007, &5 I3 g8 11 2 3t Ad 76|
20819164008, X80 1713 o I & Jt I3 5|
20819164009, 80 | Fdt T uG3 oE6 11 @S J1
20819164010, X80 1 %3 T 1G5 65 1 AT T

Chemistry Section B
SectionId: 708191847
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required?: Yes
Sub-Section Number : 1
Sub-Section Id : 7081911127

Question Shuffling Allowed : Yes



Question Number : 51 Question Id : 70819119614 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Consider titration of NaOH solution versus 1.25 M oxalic acid solution. At the end point
following burette readings were obtained.

(i) 45mL (i) 4.5 mL (i) 44 mL

(iv) 44 mL (v) 44 mL

If the volume of oxalic acid taken was 10.0 mL then the molarity of the NaOH solution is
M. (Rounded-off to the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 51 Question Id : 70819119614 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

NaOH & 3 1.25 M »aHisa 398 € W& T WeHUs (titration) & 79| nisH wnfes €3
foHiemes T5ge Uzt e aEt 75 |

(i) 45mL (i) 4.5 mL (i) 4.4 mL
(iv) 44 mL (v) 44 mL

Hag 79 MEHUG miaHsa 3a8 = 10.0 mL wE-2% o 7o I 37 NaOH WS &t HeesT _
M3 (yds ia 859 39 &)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 52 Question Id : 70819119615 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The unit cell of copper corresponds to a face centered cube of edge length 3.5% A with one
copper atom at each lattice point. The calculated density of copper in kg/ miis

[Molar mass of Cu : 63.54 g ; Avogadro Number=6.022 x 10%]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 52 Question Id : 70819119615 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

aug T fearel aF (unit cell) fea 3% aEdt (face centered) wE © AW I, fAA 38 ded uE & 09
(edge) st 3.5% A 3 we T Td #fen fi 3 foqt aiug uawg I1 ong & faet-firg wes
___________ _kg/m3 31
[a@ & mEst 39 Cu: 6354 g ; WRdsd Afr =6.022x 102 7 |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819119616 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Electromagnetic radiation of wavelength 663 nm is just sufficient to ionise the atom of metal
A. The ionization energy of metal A in k] mol lig . (Rounded-off to the nearest
integer)

[h=6.63x10"*]s, c=3.00x10® ms !, N, =6.02 x 10% mol ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819119616 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

fod T3 A’ T UGN © WMORIaEs B8 663 nm 3Ud-HEE € fansgeal felaes ael J1 T3 A B
Moo Ioas §Ir K mol~1 371 (B39 yds nia 3 &)

[593 : h=6.63%x10"*]s, c=3.00x 108 ms~1, N, =6.02x 102 mol 1]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819119617 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Five moles of an ideal gas at 293 K is expanded isothermally from an initial pressure of
2.1 MPa to 1.3 MPa against at constant external pressure 4.3 MPa. The heat transferred in
this processis k] mol L (Rounded-off to the nearest integer)

[Use R=8314 ] mol 'K~ 1]
Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819119617 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

293 K 3uWs €3 niegn @I © 5 WS, 4.3 MPa,7odt Taw © fegu, Rt eog fedt ot
2.1 MPa He®% &9 3 1.3 MPa 3a @®¢t J w fenfzs det 91 fem fedt €95 _
k] mol ~ ! 3BT 3%EI® Jet J 1. (837 Y9 vid 3w )

[293° R=8.314 ] mol ~1K1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819119618 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If a compound AB dissociates to the extent of 75% in an aqueous solution, the molality of the
solution which shows a 2.5 K rise in the boiling point of the solutionis ____ molal.
(Rounded-off to the nearest integer)

[K;, =0.52 K kg mol ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819119618 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

feq weat Giae (AB) Urat 729 Wss 3 75% 2l 9 30 Wit <9 2ufonn/ee AT J1 ¥id9 fER
&% W T §uw Tow 2.5 K 30 AT ¥ 37w € HewsT (Molality) J1 (859 yos vla
3q f&54)

[K;, =052 K kg mol "]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819119619 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Copper reduces NO, into NO and NO, depending upon the concentration of

HNO, in solution. (Assuming fixed [Cu®*] and Py, = PNOE), the HNO, concentration at

which the thermodynamic tendency for reduction of NO, into NO and NO, by copper is

same is 10" M. The value of 2xis

(Rounded-off to the nearest integer)

v o =.r"“ B 'r"“ —{).79 V ; at ? 4
[Given, E(:UH/‘:u 0.34 V, END;;ND 096 V, E?\IDZ;HOE 0.79 V and at 298 K,

% (2.303) =0.059]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819119619 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

i g HNO, # fuzsr 3 fiag o 3%, Cu, NO; & NO w3 NO, g sufiys e 31 (s
3 HNO, & st 7 f NOj & NO 3 NO, fes mufig
J1 (839 y9s At 37 )

58 [Cu?* |=Af n3 Py =Pyp)
a9t J BT HE 10FM T 20T W8

7 [ E° —034V _
< [EL 2t e, =03V, T=298 K
. o
B s /o =09 V.
5. - g
B e =00}
RT

—-(2303)=0.059]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819119620 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The rate constant of a reaction increases by five times on increase in temperature from 27°C
to 52°C. The value of activation energy in k] mol ~!is . (Rounded-off to the nearest
integer)

[R=8314] K~1 mol 1]

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 57 Question Id : 70819119620 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

"

g IUNs 27°C 3°52°C 3a @ufenr g 3 féq yfsfafanr & 2o mErdt »id (rate constant) Ud
3= faaw J1 fen yffafonr et Aignaes B9 (activation energy) K mol 171
(837 ya nia 3a fis)

[R=8.314 ] K~ mol ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 58 Question Id : 70819119621 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Among the following, number of metal /s which can be used as electrodes in the photoelectric
cellis . (Integer answer)

(A) Li (B) Na (C) Rb (D) Cs
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 58 Question Id : 70819119621 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

foHe-Tms nwast o3nr 125 fauat o3 & Gutin ec-fevalca 7 199 fetacds &n oS AT J1
(€39 yds vix 37 &)

(A) Li (B) Na (C) Rb (D) Gs

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 59 Question Id : 70819119622 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The spin only magnetic moment of a divalent ion in aqueous solution (atomic number 29) is
_ BM.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819119622 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

T wE {99 S-AueEl (2+) »Us T 293 AfUF AW gHE WS (spin only magnetic moment
value) (WaHESl Aftmr 29) _ BMJI (839 yds v 37 f)

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819119623 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of compound/s given below which contain/s —COOH groupis .
(Integer answer)

(A) Sulphanilic acid (B)  Picric acid

(C) Aspirin (D)  Ascorbic acid

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819119623 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

ot ofoet S fasst © gfoe ff9 —COOH a5y Fge J1
(837 u9s »ia 3 f&y)

(A) PFEeTsfEE 3a (B) fiafoa 3a=

(C) wmitfas (D) wiAGGEa 399

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Mathematics Section A

Section Id :

Section Number :
Section type:
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required?:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

708191848
5

Online
Mandatory
20

20

80

Yes

1
7081911128

Yes

Question Number : 61 Question Id : 70819119624 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 o .
If for the matrix, A = { w AAT=1, then the value of a? +p? is :

a P
Options :

70819164021, 2

70819164022, !

2
70819164023. ~



70819164024,

Question Number : 61 Question Id : 70819119624 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. | l -« N 5

HoG Higom A = [ [;] wm=t, AAT=1, 3¢ o4+ P T 45 :
h | -

Options :

70819164021, 4

70819164022, !

2
70819164023. ~

70819164024, >

Question Number : 62 Question Id : 70819119625 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let A be a 33 matrix with det(A)=4. Let R, denote the it row of A. If a matrix B is
obtained by performing the operation R, — 2R, + 5R, on 2A, then det(B) is equal to :
Options :

70819164025, 1©

70819164026, 5

70819164027, °4

¥
70819164028, 128



Question Number : 62 Question Id : 70819119625 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

wad A gH 3% 3 T Higar U, det(A)=4 W& &8 R, Hican A & i € 3379 J1 799 Hican B, Hican
2A §3 Afafant R, — 2R, + 5R, &arge & firset I 3¢ det(B) &9 3

Options:

70819164025, 1°

70819164026, 5

70819164027, %

g
70819164028. e

Question Number : 63 Question Id : 70819119626 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The following system of linear equations
2x +3y+2z=9
3x+2y+2z=9
x—y+4z=8

Options:

70819164029. does not have any solution

70819164030. has a unique solution

70819164031, has infinitely many solutions



70819164032, has a solution (w, 5, v) satisfying o BZ+~+3=12

Question Number : 63 Question Id : 70819119626 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

J5 o3t gfta mitaest o yewt
2x +3y+2z=9
3x+2y+2z=9
x—y+4z=38

Options :

70819164029, & &=t I% &l 4 |

70819164030, [<BHE T% T

70819164031, @ WHHS TET I8 T5 |

3 o 2 3= 'j C T ; — =1
20819164032, 2© @1 B +y =122 A3AC T (o, B, v) 35 J|

Question Number : 64 Question Id : 70819119627 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If I cot"x dx, then :

[l
B

Options :
1 1 1
I, +Ig I3 +15 " Iy +1g

are in A.P.
70819164033.

cos19164034. 12 1w 3 +1s L+ are in AP,



1 1 1
"Iy +15" T4+ 1

P are in G.P.
70819164035, 2 4

I,+1,, (Is+1 I;+1Ig are in G.P.
70819164036, > * (I3 + 15 1y

Question Number : 64 Question Id : 70819119627 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T
o
g I, = _[cot"x dx, 3¢
o
4
Options :
1 1 1 5 i
T TR nigaf=f3a &3t &g a5
70819164033, 2 L > 4 6
L+1, L +1, I, +1, vigafez3a &3t 9 951
70819164034, ~
1 1 1

; st &3t feo o

70819164035, 12 *1a I3 +15 Iy +1g

20819164036, 2 1o (3 +1s)% I + I Frrfest &=t feo a5

Question Number : 65 Question Id : 70819119628 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
X

A function f(x) is given by f(x) = , then the sum of the series

5* +5

fj ....... |f{§2\

200 )

fl J+f(2

is equal to :

.20 ) 20 )



Options :

70819164037.

70819164038.

LI
mlkg

70819164039.

G
!“‘}|\E

70819164040.

Question Number : 65 Question Id : 70819119628 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

I ™
Herd 286 f(x) 5 f(x) = _5 o 837 T
5* +5
ECiRGEI]
| 20 ) | 20 ) | Wy T | "J[] A ERSCAED %

Options :

29

5
70819164037.

49

2
70819164038.

39

>

70819164039.



=

19
=2

70819164040.

Question Number : 66 Question Id : 70819119629 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

e : : -y — 2ag
Letaand g be therootsof x*— 6x—-2=0. Ifa, =a"~p" forn = 1, then the value of ————
Jdg
1S
Options :

70819164041.

70819164042.

-2

70819164043.

70819164044.

Question Number : 66 Question Id : 70819119629 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2a 3

HE B8 o ni B AHISEA 22~ 6x - 2=0 HB T8 #o9 a =a" B n = 1 8, 3¢ _1“1 or
) Jag

HS

Options :

70819164041, *

70819164042, °



2
70819164043.

70819164044. :

Question Number : 67 Question Id : 70819119630 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

aX

L e ) -
The minimum value of f(x)=a" al & wherea, xc Randa>0,is equal to :

Options :

70819164045, 2 "1

70819164046.

70819164047.

2
70819164048.

Question Number : 67 Question Id : 70819119630 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

flx)=a"" +a! @ = 583y y®, M a, xe R B a>0 59859 7 :
Options :

70819164045, 2 "1

g i
70819164046. o



70819164047.

2
70819164048.

Question Number : 68 Question Id : 70819119631 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

E.'-S]t:nf;i~ 2% 4 5,:.21“'5# 2x

The integral dx, x >0, is equal to :

DQ]DEPI | 503](:55?_1‘ ?Dzlngi_t

(where c is a constant of integration)

Options :

log | x2+5x—7|+¢
70819164049. '

; 2. 6.7
70819164050, 1108 ¥~ 7T

] ! )

logix+5x—-7|+c
70819164051.

log, Va2 +5x -7 +c
70819164052.

Question Number : 68 Question Id : 70819119631 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

3log, 2x og, 2x
T e e 2
dy, x>0, 39499 J :

Ie4lt:

et SDE]”E*‘I ?Dllngax
(c Tenclans e wigs J1)

Options:



—a

log,, 2 +5x-7|+c
70819164049.

¥ 2 W
70819164050, 1108el ¥~ +x 7+ c

—

3
EIOB{, x2+5x 7|+ c
70819164051.

~

loge Vx* + 5x FC

70819164052.

Question Number : 69 Question Id : 70819119632 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If a, p e R are such that 1-2i (here = ~1) is a root of z2+az +$ =0, then (a — ) is equal
to:

Options :

70819164053.

70819164054.

|

70819164055.

=1

70819164056.

Question Number : 69 Question Id : 70819119632 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Had o, B € R, 7Efa 1-2i (fed 2= — 1) miiaas 22tz +B=0T 48 J 3¢ (a—B) 099 J

Options :



70819164053.

70819164054.

|

70819164055.

~]

70819164056.

Question Number : 70 Question Id : 70819119633 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the curve 1 2y3=2 intersects the line x +y=1 at two points P and Q, then the angle
subtended by the line segment PQ at the origin is :

Options:
—_ il
= #tan i|
2 4
70819164057.
= T T
_I ta_n ]' i
2 \ '—1'/'
70819164058.
- S
= +tan”! i|
2 \ ?l‘/'
70819164059.
.':r 1
o tan 11 2 |
2 \ 3',.-'
70819164060.

Question Number : 70 Question Id : 70819119633 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
oW 239 2+ 27 =2, W x+y=17 fag P Q 63 de awel I 3¢ 9 PQ ¥ (origin) 3 aF
TEEe d

Options :
—_ 1%
Lo i|
2 -—1'/'
70819164057.
” s
2 4 )
70819164058.
-'.".' s
— + tan 1|—|
2 -3‘/'
70819164059.
.__ £ %
2 -.3'(_.'
70819164060.

Question Number : 71 Question Id : 70819119634 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The shortest distance between the line x —y=1 and the curve 2= 2y is :
Options :

g
2
70819164061.

2.1
ra] .

70819164062.

70819164063.

70819164064.



M| =

Question Number : 71 Question Id : 70819119634 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
9 x—y=1n3F IIT x> =2y fega7 fsGazn Tat 7 :

Options :

g2

V2
70819164061.

i

2.2
70819164062.

0
70819164063.

9

2
70819164064.

Question Number : 72 Question Id : 70819119635 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2
A h}-‘porbola passes through the foci of the eIIipso lE | y_h =1 and its transverse and

conjugate axes coincide with major and minor axes of the ellipse, respectively. If the product
of their eccentricities is one, then the equation of the hyperbola is :

Options :

g 2
Gl A
70819164065, ° 16



2

2 ]
B
70819164066. :

[

2
.l
9

B[
|
o

70819164067.

2

X =9
70819164068. &

Question Number : 72 Question Id : 70819119635 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
' 2
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Options :
9 V..
B BNy
70819164065, = 16
2 ]2
‘.
70819164066. :
.12 12
s
70819164067.
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¥ )
X y-=9
70819164068. &

Question Number : 73 Question Id : 70819119636 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

A plane passes through the points A(1, 2, 3), B(2, 3, 1) and C(2, 4, 2). If O is the origin and

—
Pis (2, —1, 1), then the projection of OP on this plane is of length :

Options :
k]
|
\3
708191640609.
2
1
70819164070.
7
7
70819164071.
2
’;ill_
70819164072.

Question Number : 73 Question Id : 70819119636 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fea mmEs fag A(1, 2, 3), B(2,3,1) m3 C(2,4,2). &8 Swer J #a8 O HE (origin) »3
P (2 -1,1), 3% A5 9 gy OP & swet ¥ :

Options :
[z
]—
V3
708191640609.
B
11
70819164070.
2
=
!

70819164071.
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Question Number : 74 Question Id : 70819119637 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

li 1 n n n :
im | — 4 o 1 e A F——— | is equal to :
nocin @+ W+ (2n—1)°

Options :

1
70819164073.

1
2

70819164074.

1
3
70819164075.

1
70819164076, *

Question Number : 74 Question Id : 70819119637 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

. 1 n n n _
lim | = 4 — i g f———— | 9d™=d J ;
nel N m+l” [+ 20 (2n—1)"

Options :

1
70819164073.
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70819164074.
1
3
70819164075.
1
70819164076, *

Question Number : 75 Question Id : 70819119638 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[n a group of 400 people, 160 are smokers and non-vegetarian; 100 are smokers and vegetarian
and the remaining 140 are non-smokers and vegetarian. Their chances of getting a particular
chest disorder are 35%, 20% and 10% respectively. A person is chosen from the group at
random and is found to be suffering from the chest disorder. The probability that the selected
person is a smoker and non-vegelarian is :

Options :
7

70819164077, 2

70819164078.

s8R

70819164079.

14
70819164080. 4°

Question Number : 75 Question Id : 70819119638 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
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Options :

7
70819164077, 2

70819164078.

HR

70819164079.

14
70819164080. 4°

Question Number : 76 Question Id : 70819119639 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let A be a set of all 4-digit natural numbers whose exactly one digitis 7. Then the probability
that a randomly chosen element of A leaves remainder 2 when divided by 5 is :

Options:
1
5
70819164081.
g
9
70819164082.
97
297

70819164083. ~
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Question Number : 76 Question Id : 70819119639 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819164081.
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70819164082.

70819164083. ~

297

70819164084.

Question Number : 77 Question Id : 70819119640 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. 3
{0 <x y<wand cosx + cosy — cos(x +y) = -, then sinx + cosy is equal to :
Options :
3
2
70819164085.

70819164086.
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70819164087.

.'l | w‘fi
70819164088, 2

Question Number : 77 Question Id : 70819119640 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

= e 3
Had 0 < x, y < w w3 cosx + cosy — cos(x + y) = -;,3?51-_11_1' tcosy H9HET U :
Options :
1
2
70819164085.
3
o
70819164086.
13
70819164087. 2
1+43
70819164088, 2

Question Number : 78 Question Id : 70819119641 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Let x denote the total number of one-one functions from a set A with 3 elements to a set B
with 5 elements and y denote the total number of one-one functions from the set A to the
sel A xB. Then:

Options :

2y=91x
70819164089.

=
=
[l
I3
e |
]
o

70819164090.

y=91x
70819164091.

70819164092.
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Correct Marks : 4 Wrong Marks : 1
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Options:
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Question Number : 79 Question Id : 70819119642 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

i _qf4)
rnaur[irrﬂ 1[Z:i]l Cos 1|7-ﬂ is equal to :
o S
Options:
56

70819164093, -2

65
33
70819164094,

65

70819164095, °°

a;.
L

70819164096.

Question Number : 79 Question Id : 70819119642 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 4 Wrong Marks : 1

g sl oy —]_ = E —]_ lI-'—].'l‘l =

cosec| 2cot™'(5) +cos | = || EIHT T
: \2 )

Options:
56

70819164093, >

65
33
70819164094,
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70819164095, °°

70819164096.
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Question Number : 80 Question Id : 70819119643 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The contrapositive of the statement “If you will work, you will earn money” is :

Options :

70819164097, To earn money, you need to work

20819164098. You will earn money, if you will not work

70819164099. If you will not earn money, you will not work

If vou will earn monev, vou will work
70819164100. - i

Question Number : 80 Question Id : 70819119643 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

a6 T YISUsSHA (contrapositive) ' 'Had IAT oH dgdl, AT UK aHTgaT|

Options:
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70819164100, o9 IHI UH SHET, FAT SH 94T |
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Question Number : 81 Question Id : 70819119644 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A function f is defined on [ -3, 3] as

s
N Jminl e 3 b 2=w=]
3

f(x)
= ()

<|x|<3

where [x] denotes the greatest integer = x. The number of points, where fis not differentiable

mi-3N. . ...
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Show Word Count : Yes

Answers Type : Range
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Question Number : 81 Question Id : 70819119644 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Hold 286 f :

i

Jmin{ x|, 2-x%,-2sx<2

| [lx]] , 2<|x|=3

[-3,3] €3 ufgariiz I fog [x] mitasia Auss Aftnr < x 159 e (-3, 3) fog g f feectimnes

flx)=

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819119645 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

[f the curve, y=y(x) represented by the solution of the differential equation
(2);3;2 y)dx +xdy=0, passes through the intersection of the lines, 2x ~3y=1 and
3x +2y=38, then |y(1)[isequal to .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001
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Heg 39 y=y(x), Tsecim® miags (o2 - y)dx +xdy=0T 98, 7 fa qu=r - 3y=1n3
Ir+2y=8Tae g i@ Sy, geambel 9 1 e |y())| T E=9 dI
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Show Word Count : Yes
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Possible Answers :

5to 5.001

Question Number : 83 Question Id : 70819119646 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The total number of two digit numbers ‘'n’, such that 3" + 7" is a multiple of 10,is .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :
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Question Number : 83 Question Id : 70819119646 Question Type : SA
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o® T-Wial Afgm= 'n’ _ T&, Aefd 30+ 7™, 10 T gEq J1
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Question Number : 84 Question Id : 70819119647 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

ax — (e* — 1)

If lim T exists and is equal to b, then the valueof a—2bis
-0 ax(e™ 1)

1
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Show Word Count : Yes
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5 to 5.001

Question Number : 84 Question Id : 70819119647 Question Type : SA
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dx
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5to 5.001
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If the curves x=y* and xy=k cut at right angles, then (4k)° is equal to
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-

The value of _[ 3x% — 3x — 6|dx -

S
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If the remainder when x is divided by 4 is 3, then the remainder when (2020 + )2 is

divided by 8is
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A line T" passing through origin is perpendicular to the lines

—

lix =G40 +(=1+2)] +(4+2k

e

L:r =(3+4 ?5).4? F(3 4 ?5)';"' (24 s)l:

[f the co-ordinates of the point in the first octant on ‘I, at a distance of J17 from the point
of intersection of 'I' and I} are (a, b, ¢), then 18(at+b+tc)isequalto _____ .
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A line is a common tangent to the circle (x —3)> +1?=9 and the parabola y?=4x. If the two
points of contact (a, b) and (¢, d) are distinct and lie in the first quadrant, then 2(a +¢) is
equal to
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5 to 5.001
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Let a =i 4 M 3k and 54 ﬂ; - k. If the area of the parallelogram whose

— e :
: : . o X : :
adjacent sides are represented by the vectors a and b is 8v3 square units, then a - b is
equal to
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